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Typical Cases:
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Zero-Force Members

Example 1

Given: The truss shown is in static equilibrium.

Find: For the truss,
a) ldentify all zero-force members by inspection.

b) State anything else you can determine about the truss by inspection.
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Zero-Force Members

Example 2

Given: The truss shown is in static equilibrium.

Find: For the truss,
a) Identify all zero-force members by inspection.

b) State anything else you can determine about the truss by inspection.
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Zero-Force Members

Example 3

Given: The truss shown is in static equilibrium.

Find: For the truss,
a) Identify all zero-force members by inspection.

b) State anything else you can determine about the truss by inspection.
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Zero-Force Members

Example 4

Given: The truss shown is in static equilibrium.

Find: For the truss,
a) Identify all zero-force members by inspection.

b) State anything else you can determine about the truss by inspection.
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Zero-Force Members

Example 5

Given: The truss shown is in static equilibrium.

Find: For the truss,
a) Identify all zero-force members by inspection.

b) State anything else you can determine about the truss by inspection.
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Zero-Force Members
Example 6

Given: The truss shown is loaded with two 6 kN forces and is
held in static equilibrium by a pin support at A and a
roller support at E.

Find: 1.5 m---—l——l.S m-—=f1.5 m-—1.5 m———l
a) Identify all zero-force members in the truss by inspection. 6 kN
b) Using your equations of static equilibrium, prove the members HI and |G are zero-force
members.
c) Indicate any other members whose load can be identified or is equivalent to another
member by inspection.
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Zero-Force Members

Group Quiz 1
Group #: Group Members: 1)
(Present Only)
Date: Period: 2)
3)
4)
Given: A truss is subjected to the loading shown. g - £ —
Find: B F
a) Determine the reaction forces at support K RVl
. A L é H G
pin A and roller G. 6 ft s h ] § 6k TR
b) Determine the load carried in members 1 |
3001b 400 1b 1001b

DE, DI, 13, HJ. Be sure to show a mathematical
justification for your answer. Indicate whether each member is in tension or compression.
c) ldentify all zero-force members in the truss.
d) If an additional downward load were applied at joint D, would the force carried in
e member DI change or stay the same
e member DJ change or stay the same, and

¢ member DK change or stay the same.

Solution:



ME 270 - Basic Mechanics I - Groap Quiz

Name/Group #; . Group Members: 1) 2
Date: . Perod: £)] 4)
e D g@, £ ,
Given ; .
A truss is subjected to the loading shown, L k ¢ ! H G L
- smm  6ft gt l; R 6% gig
, §
Find: 0 1b 4001b a, 1061b

(a)  Determine the reaction forces at support pin A and roller G.

(b)  Determine the load carried in members DE, DI 17, {1} Be
sure to show a mathematical justification for your answer.
Indicate whether each member is in the tension or compres-
sion.

(¢)  Identify all zero-force members in the truss.

(d)  If an additional downward load were applied at joint D,
would the force carriedin~







